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2N A=
HzM: FHEHAINA &L XS
Sl ENMBEANA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
403 XX SHHS K20 & 310,000 700,000 A 390,000
01 AIXISHHMA=Z2E X 310,000 700,000 A 390,000
OFACIAC 22 200,000
OHdEY S Of2 22X M 75,000
Ow2s Of2t A&XYH o 15,000
O=0l &0 20X HH 20,000
gXH=EE2 &b 45,000 70,000 A 25,000
403 XX S M S K201 & 45,000 70,000 A 25,000
01 AXESHHIE2E X 45,000 70,000 A 25,000
OZ2ANEL SUXAHAFS 822 X 45,000
SE MACK 23D OIECUR Hel 2A(2I+HA 500,000 0 500,000
FSONECD)
403 XX SRS K20 & 500,000 0 500,000
01 XIS A=2E X 500,000 0 500,000
OFE A &EUD OELE Hel =4 500,000
IEAHNEE AN EsEZY NAE(21D) 1,080,000 0 1,080,000
= 240,000
o= 840,000
403 XX SHHMS K201 A 1,080,000 0 1,080,000
= 240,000
o= 840,000
01 AIXSHHMAS2E X 1,080,000 0 1,080,000
OJIEH=E=E StMANESsEL XSAY 1,080,000
= 240,000
& 840,000
AEZHEMA AL (MEH) MRS 17,600 0 17,600
403 XX SHHS K20 & 17,600 0 17,600
02 BI2SHUSXA=2EAEAISHI 17,600 0 17,600
OHEHFZAAH (MSEH) MRS 17,600
FEHAHOIE U FEOI =2 X &F A 71,031,815 61,203,476 9,828,339
= 65,044,400
& 5,987,415
FEHNH T 70,781,815 60,387,476 10,394,339
= 64,794,400
& 5,987,415
ZH20(=2D) 70,531,095 59,114,696 11,416,399
= 64,650,000
== 5,881,095
202 o4 | 4,250 5,000 A 750
01 2Ll 4,250 5,000 A 750
OFHEX g2FA 4,250




EM: A
HE: FOAZAFURHEX S
Sl FE MK (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
308 XXM SO0 A 70,526,845 59,109,696 11,417,149
= 64,650,000
< 5,876,845
01 AXNSGHBLAEES 70,526,845 59,109,696 11,417,149
FHS 0 At 70,526,845
= 64,650,000
< 5,876,845
LAY 88X =H=0H XA 63,000 90,000 A 27,000
403 MtXISHHE X201 & 63,000 90,000 A 27,000
01 XM A=2EE 63,000 90,000 A 27,000
OZREETE =KX =H=2W X 63,000
SOHE ZOHFEH AL (Z 1) 187,720 182,780 4,940
2 144,400
= 43,320
403 A X EHHS =0l A 187,720 182,780 4,940
2 144,400
< 43,320
01 X EHHM A= E L 187,720 182,780 4,940
O=s0E ZOHQI=C JHZALEY 187,720
2 144,400
< 43,320
FHEZMNAX A 250,000 816,000 A 566,000
= 250,000
CE3SAUFE ANEML(=22) 250,000 153,000 97,000
= 250,000
403 Ut SHHSA=0l& 250,000 153,000 97,000
= 250,000
01 HXSHMA=E X 250,000 153,000 97,000
OL=2ZLU=E AIEMH 250,000
= 250,000
SMEHAS =HAA 1,294,000 3,090,000 A 1,796,000
M4t = K& 1,294,000 3,090,000 A 1,796,000
MESE =HHIE KA 1,294,000 3,090,000 A 1,796,000
308 XXX S0 1,294,000 3,090,000 A 1,796,000
01 AXNSGHBLEES 1,294,000 3,090,000 A 1,796,000
oXEge =1 "8 N 1,294,000
HY2AHH (A=) 33,432 36,566 N3,134
Jl23 4l 33,432 36,566 N3,134
2EM2E J2Z 33,432 36,566 N3,134
201 LB-2E| 23,676 24,326 A 650
01 At 2t 2l 23,676 24,326 A 650




M A=
M HH2IZH(AS)
¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH %}E_i Hns2Z
ORMESY AtR2clt] 23,676
202 oddl 6,156 8,640 AN2,484
01 = LH 4 1l 6,156 8,640 A2,484
OfMEY 2 U 6,156
203 R =&l 3,600 3,600 0
04 ENSSHRF=EHI 3,600 3,600 0
©202! olat 3,600






